
収入(政令月収）の計算例

計算例１
家族構成

年齢 職業 年間税込総収入金額
本人 41 会社員 4,800,000
妻 40 会社員 4,800,000
子 13 学生 0

所得の計算 本人 4,800,000
妻 4,800,000

収入(政令月例)の計算
{3,400,000+3,400,000-(2人×100,000)-(2×380,000）}÷12ヶ月

政令月収　486,666円

計算例2
家族構成

年齢 職業 年間税込総収入金額
本人 45 会社員 5,500,000
妻 40 会社員 4,800,000
子 16 学生 0
子 12 学生 0

所得の計算 本人 5,500,000
妻 4,800,000

収入(政令月例)の計算
{3,960,000+3,400,000-(2人×100,000)-(3×380,000）-250,000}÷12ヶ月

政令月収　480,833円

計算例2
家族構成

年齢 職業 年間税込総収入金額
本人 48 会社員 7,825,000

所得の計算 本人 7,825,000

収入(政令月例)の計算
5,942,500-(1人×100,000)}÷12ヶ月

政令月収　486,875円

4,800,000×0.8-440,000=3,400,000円(年間総所得金額）
4,800,000×0.8-440,000=3,400,000円(年間総所得金額）

5,500,000×0.8-440,000=3,960,000円(年間総所得金額）
4,800,000×0.8-440,000=3,400,000円(年間総所得金額）

7,825,000×0.9-1,100,000=5,942,500円(年間総所得金額）


